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The figures in the margin indicate full marks.
Candidates are required to give their answers
in their own words as far as practicable.

1. Answer any five questions from the following :
2x5=10

(a) Write down the disadvantages of external
fertilization in animals. 2

(b) What is spermioteleosis and spermiation?1+1

(c) What happens if multiple sperms get fused

with an egg? 2
(d) State the roles of amnion and chorion for
embryonic development. : 2
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(2)
(e) What is vitelogenesis? 2

(f) Differentiate between steroblastula and
coeloblastula with an example? 1+1

(2) How do the animal and vegetal poles of an
egg differ? 1+1

(h) What are Mauchette and Nebenkern?  1+1

. Answer any four questions from the following :
5%4=20

(a) What is cleavage? How does the amount of
yolk affect cleavage? How do holoblastic and
meroblastic cleavage differ? 1242

(b) Describe the structure of sperm with labelled
diagram? 3+2

(¢) Define ontogenesis. Write down the different
stages of vertebrate head formations. 1+4

(d) What is placentation? Write down the types
~ of placenta on the basis of tissue layers
participation in mammals. 1+4

{e) Describe formation of blastula in echinoderm
with suitable diagram. 5



(3)
(f) Briefly describe the primary, secondary and
tertiary embryonic induction in mammals. 5

3. Answer one question from the following: 10x1

{a) Define fertilization. What is the role of
followings in-fertilization?

(i) acrosome (ii) egg binding protein (iii) Egg

activation (iv) membrane and cortical events.

142424243

(b) What is organogenesis? Why is it important
in development? What are the prominent
features of gastrulation? Describe the process
of oogenesis in mammals. 1+2+2+5
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